






• Shalini's husband, Prakash, is the son of Karthik. Soumita is the wife of 

Nishant, who is the son of Jhanvi. If Ankur's daughter Jhanvi is married to 

Karthik, then how is Shalini related to Jhanvi?

• शालिनी का पलि, प्रकाश, कालििक का पतु्र ह।ै सौलििा, लनशाांि की पत्नी ह,ै जो जान्हवी का पतु्र ह।ै 

यलि अांकुर की पतु्री जान्हवी का लववाह कालििक से हुआ ह,ै िो शालिनी का जान्हवी से क्या सम्बन्ध 

ह?ै
A.Daughter./ पतु्री

B. Sister-in-law / Sister-in-

law./भाभी / ननि

C. Sister./बहन

D.Daughter in law./बहू



• Choose the alternative which is closely resembles the mirror image of the given 

combination.

• उस लवकल्प को चनुें जो लिए गए सांयोजन की िपिण छलव के सिान ह।ै



• In the following question number of triangle are

• लनम्नलिलिि प्रश्न िें लत्रभजुों की सांख्या है

A.12

B. 18

C. 22

D.26



• Select the number from the given alternatives which can replace the question 

mark (?) in the following series.

• लिए गए लवकल्पों िें से उस सांख्या का चयन कीलजए जो लनम्नलिलिि श्रांििा िें प्रश्न लचन्ह (?) को 

प्रलिस्थालपि कर सकिी ह।ै

• 85, 84, 92, 65, 129, ?
A.258

B. 4

C. 177

D.329



• Select the number from the given alternatives which can replace the question 

mark (?) in the following series.

• लिए गए लवकल्पों िें से उस सांख्या का चयन कीलजए जो लनम्नलिलिि श्रांििा िें प्रश्न लचन्ह (?) को 

प्रलिस्थालपि कर सकिी ह।ै

• 5, 6, 14, 23, 87, ?
A.112

B. 212

C. 69

D.None of these



• X walked from point A to B. Then he took a right turn and walked 17 feet. He 

again took a right turn and walked a distance equal to that of A to B. He again 

turned right and walked 9 feet. How far is he now from the starting point?

• X, लबांि ुA से B िक चिा। लिर वह िाएां िडुा और आगे 17 िीट चिा। वह लिर से िाएां िडुा और 

एक िरूी िक चिा, जो लक A से B के बराबर ह।ै वह लिर से िाएां िडुा और आगे 9 िीट चिा। अब 

वह शरुूआिी लबांि ुसे लकिना िरू ह?ै

A.7 िीट

B. 7.5 िीट

C. 8 िीट

D.9 िीट



• In a class of 60 children, where the number of girls is twice that of boys, Kamal 

stood 16th from the top. If 9 girls are ahead of Kamal, then how many boys are 

there after him? (if kamal is a boy).

• 60 बच्चों की एक कक्षा िें, जहााँ िडलकयों की सांख्या िडकों से िोगनुी ह,ै किि ने ऊपर से 16वााँ 

स्थान प्राप्त लकया। यलि 9 िडलकयााँ किि से आगे हैं, िो उसके बाि लकिने िडके हैं? (यलि किि 

एक िडका ह)ै

A.13

B. 7

C. 12

D.23



• 'House' is related to 'Foundation' in the same way as 'Tree' is to '... [SSC CHSL 

2020]

• घर' का 'नींव' से वही सांबांध ह,ै जो 'पेड' का '......

A.Soil./लिट्टी

B. Branch./शािा

C. Root./जड

D.Stem./िना



• 'Ethiopia' is related to 'Africa' in the same way as 'Brazil‘ ' is from.

• 'इलथयोलपया' का सांबांध 'अफ्रीका' से उसी प्रकार ह ैजैसे 'ब्राजीि' का ह।ै

A.ब्रासीलिया

B. िलक्षण अिेररका

C. अफ्रीका

D.उत्तरी अिेररका



• Study the given pattern carefully and choose the number which can replace the 

question mark (?).

• लिए गए स्वरूप का ध्यानपवूिक अध्ययन कीलजये और उस सांख्या का चयन कीलजये जो प्रश्नवाचक 

लचह्न (?) को प्रलिस्थालपि कर सके ।

• पहिी पांलि- 3, 43, 4

• िसूरी पांलि - 6,241, 5

• िीसरी पांलि- 2, ?, 11 A.173

B. 192

C. 137

D.129



• Statement:

• Some butter is honey./कुछ बटर हनी ह.ै

• Some honey is bread./कुछ हनी बे्रड ह.ै

• All bread are jam./सभी ब्रेड जैि हैं।

• conclusion:

• Some jam is honey./कुछ जैि हनी हैं।

• All honey is butter./सभी शहि िक्िन ह।ै

• Some Jam is butter./कुछ जैि बटर हैं



• If 21st June 2007 was a Thursday, then what day of the week was it on 21st 

June 2011?

• यलि 21 जनू 2007 को गरुुवार था, िो 21 जनू 2011 को सप्ताह का कौन सा लिन था?

A.Wednesday

B. Monday

C. Sunday

D.Tuesday



• Select the option that gives the correct order of the given words as they would 

appear in the English dictionary.

• उस लवकल्प का चयन कीलजए जो लिए गए शब्िों के सही क्रि को िशाििा ह,ै लजस प्रकार वे अांगे्रजी

शब्िकोश िें लििाई िेंगे।

• 1. Adequate

• 2. Adoption

• 3. Addiction

• 4. Abduction

• 5. Advertisement

A.4,3,1,2,5

B. 3,2,4,1,5

C. 3,1,4,2,5

D.4,2,1,3,5



• In a given number pair, the second number is obtained by performing some 

mathematical operation/operations on the first number. The same operations are 

followed in all the number pairs except one. Find the odd number pair.

• िी गई सांख्या यगु्िों िें िसूरी सांख्या पहिी सांख्या पर कुछ गलणिीय सांलक्रया/सांलक्रयाएाँ करके प्राप्त की 

जािी ह।ै एक को छोडकर, सभी सांख्या यगु्िों िें सिान सांलक्रयाओ ां का अनसुरण लकया जािा ह ै। 

लवषि सांख्या यगु्ि ज्ञाि कीलजए।

A.361:332

B. 533:504

C. 440:411

D.520:481



• In a certain code language, SANCTION is written as XFSHODJI. How will 

PROFOUND be written in that language? [SSC - CGL 2020]

• एक लनलिि कोड भाषा िें, SANCTION को XFSHODJI लििा जािा ह।ै उस भाषा िें 

PROFOUND कैसे लििा जाएगा?

A.UWTKJPIY

B. VWUKMPIY

C. UWTKKPIZ

D.UXTKNQIY



• In a certain code language FASTER is written as CDPWBU. How will VIOLIN 

be written in that language? [SSC - CGL 2020]

• लकसी लनलिि कूट भाषा िें FASTER को CDPWBU लििा जािा ह ै। उसी भाषा िें VIOLIN 

को कैसे लििा जाएगा ?

A.RLTILK

B. SLIRLM

C. SLLOFQ

D.SKIRKO



• Find the value of question mark?

• प्रश्नवाचक लचन्ह का िान ज्ञाि कीलजये?

7

34

?

142

286 16
A.66

B. 68

C. 70

D.72



• Find the value of question mark?

• प्रश्नवाचक लचन्ह का िान ज्ञाि कीलजये?

3 27

3

4

162.5

10

12 A.6

B. 7

C. 8

D.9

6 ?

85



• A wall clock lags behind by 7 seconds in one hour and is corrected at 8 a.m. 

What time will it show at 3 p.m. on the same day?

• एक िीवार घडी एक घांटे िें 7 सेकां ड पीछे हो जािी ह ैऔर इसे प्रािः 8 बजे ठीक कर लिया जािा ह,ै 

यह उसी लिन िोपहर 3 बजे क्या सिय लििाएगी?

A.सांध्या 2:59:23

B. सांध्या 2:59:11

C. सांध्या 2:59:15

D.सांध्या 2:59:19


